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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
Mid Semester Examination — March 2019

Course: B. Tech in Information Technology Sem: I

Subject Name: ,mimgogo_.ﬁum Protocol Subject Code: BTITC404

Max Marks: 20 Date:-14/03/2019 Duration:- 1 Hr.

Instructions to the Students:
1. All questions are compulsory.
2. Assume suitable data whenever necessary
3. Use of non- programmable scientific calculator is allowed.
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~ 1.Which class of TP address EoSaow a BmeEB of ob_w 254 host addresses voﬂ

network HU@
A. ClassA°  B. Qmmm B C.ClassC  D.ClassD

-

2. What i is the address range om aClass B sogo% address in binary? -

.

A. 0lxxxxxx  B.0xxxxxxx C. _oucccccn " D.110xxxxx

3. /Saor o;o of the mo=o€5m is m 55%02 _3\3 Eoﬁooo_ cmoa in nn%mwﬁumq

A) TCP  B)UDP C) Both TCP .mbadcw D) .Zobo.o,w%n ‘mentioned

. 4.The %m..w.gmoa wa%ommgmmw also Wboiz_._um ) Model
-A. Modern B. Classful ~ C. Classless D. Heterogeneous Model
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5 deals with the i Hmmc.om o»; onom:sm msa EmESEEm Hos::m tables. .

A) Forwarding B) Routing C) Directing D) none of the above

. 6. If Host A and Host B are connected with two intermediate routers how many

no. of network layer and data link layer it requires

A. 2 Network Layer 4 data link Layer .

P

B. 3 Network Layer 3 data link Layer
C. 4 Network Layer 6 data Link layer
D. 6 Network Layer 4 Data link Layer

C 2 mo—é >=% Two of the ?:eﬁ::m
va With the ro:u of neat diagram oxEmE Packet mézorﬁm and Circuit mé:&:uw
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